-3 .
F5E E549 HEEXg 0|7|Z MLl

202314 62 X% (Y| S 0s :
o1 oA (58 3FAH2IZ 83 HH(IA) o -

X2 AN

<F7HE sEatd| >

-2 AEe G0 =E2 521K st sEME 6l FH ZYSLICH

-2 ANEs OOX|L EXRALEO|N, SRS FE XAEE AMBE7|0e HEYSHK| XL/
-(MMHEIEEYE g0 o2 AR d=E FE/08HE Hotn 42 A, Q)M 71X XEte2E 387t
ERSICHD L7l AFEolA Aot

e HA[SAX)7F S E X %20, Zoom HAIZL sfd R /52 S S Mo MIEH = ASUY

<2 HH| >

-2 M= 20239 2|2 85 O{HENC 2HE 7HX 1 FEEJASLICH

SO{EHMR|7E 2ebE 28O oY AXIE ZEE[X|= EULL SRS 2¥ ez FEEUSLIC

-HA e ASdESE SEE YCH, o/ FXo| utHle =2A #=F2| fYEHME diZst= ol =
Ho| &HEM A&

ol Ad ol dAF A [

o Xtz Y Fo Y=E
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3. Which of the following is NOT grammatically correct?”

We should think of Cultural Intelligence as being something @Mthat we can continuously improve and
@develop over the duration of our lives. The difficulty is in acquiring it. We do this ®through our

experiences, but also with knowledge @impart by other people whom we trust—and who trust us

®enough to give us their knowledge.

12. Which of the following is NOT grammatically correct?2)

The Titanic was the most magnificent ship. It had luxuries and all comforts. It had electric light and
heat, electric elevators, a swimming pool, a Turkish bath, libraries, etc. Most of the passengers were

emigrants @who were coming to America with hopes of a better life. The Titanic began to cross the

Atlantic ocean on April 10. Nobody on the ship realized how much danger the ship was in. On April
14, at 11:40 p.m., an iceberg @was spotted straight ahead. The captain tried to reverse the direction of
his ship, but he couldn't because the Titanic was traveling too fast and it was too big. It hit the
iceberg and started to sink. The Titanic originally had had 32 lifeboats, but 12 of them (®had been
removed to make the ship look better. While the ship was sinking, rich people @had put on the
lifeboats. By the time the third-class were allowed to come up from their cabins, most of the lifeboats

®had already left.

16. Which of the following is NOT grammatically correct?3)

Marine debris which is known to cause entanglement @includes derelict fishing gear such as nets
and mono-filament line and also six-pack rings and fishing bait box strapping bands. This debris can
cause death by drowning, suffocation, strangulation, starvation through reduced @feeding efficiency, and
injuries. Particularly affected ®is seals and sea lions, probably due to their very inquisitive nature of
investigating objects in their environment. Entanglement rates in these animals of up to 7.9% of a

population @have been recorded. Furthermore, in some instances entanglement is a threat to the

recovery of already ®reduced population sizes. An estimated 58% of seal and sea lion species are
known to have been affected by entanglement including the Hawaiian monk seal, Australian sea lions,

New Zealand fur seals and species in the Southern Ocean

1) 491

2) 49

3) 34
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1. We should think of Cultural Intelligence as being something @that we can continuously improve and

1o

@develop over the duration of our lives.

[\

. The difficulty is in acquiring it. We do this ®through our experiences, but also with knowledge
@imparted by other people whom we trust—and who trust us ®enough to give us their knowledge.

3. Most of the passengers were emigrants @who were coming to America with hopes of a better life.

4. Most of the passengers were emigrants @who were coming to America with hopes of a better life.

5. Nobody on the ship realized how much danger the ship was in.

6. On April 14, at 11:40 p.m., an iceberg @was spotted straight ahead.

7. The captain tried to reverse the direction of his ship, but he couldn’t because the Titanic was traveling

too fast and it was too big.

8. The Titanic originally had had 32 lifeboats, but 12 of them (®had been removed to make the ship look

better.

9. While the ship was sinking, rich people @had been put on the lifeboats.

10. By the time the third-class were allowed to come up from their cabins, most of the lifeboats ®had

already left.
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11. Marine debris which is known to cause entanglement @includes derelict fishing gear.

12. This debris can cause death by drowning, suffocation, strangulation, starvation through reduced

@feeding efficiency, and injuries.

13. Particularly affected are seals and sea lions, probably due to their very inquisitive nature of

investigating objects in their environment.

14. Entanglement rates in these animals of up to 7.9% of a population @have been recorded.

15. Furthermore, in some instances entanglement is a threat to the recovery of already ®reduced

population sizes.

16. An estimated 58% of seal and sea lion species are known to have been affected by entanglement.
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